Introduction to Numerical
Integration
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As thy a difficult a problem as finding
quadrature of a circle



PHYSICAL EXAMPLES



Distance Covered By Rocket
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Concentration of Benzene
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u= velocity of ground water flow in the x -direction (m/s)
D = dispersion coefficient (m?/s)
C,= initial concentration (kg/m?)



Is Wal*** “short shifting” you?
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Calculating diameter contraction for
trunnion-hub problem
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Coefficient of Thermal Expancion
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The distance covered by a rocket from t=8 to t=34 seconds is

calculated using multiple segment trapezoidal rule by integrating

a velocity function. Below is given the estimated distance for

different number of segments, 7.
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